A New Relative

L.
r

In first grade we learned about C, G, F major and their relatives A, E and D minor. In
Grade 2 we study D major's relative: B minor. The best way to remember relatives is to
make up a word beginning and ending with the letters of the related keys!

Hey Signature of these keys

Relaties Word to remember relatives
C major 2 Word beginning with 'C and
is related to o ending with 'f\':
A minor 2y Cbla
'6 major -4 Word beginning with ‘G’ and
is related to o ending with 'E":
€ minor S B Gf‘ape,
'F major = Word beginning with ‘F' and
is related to Di ending with ‘D’
-D minor ,i,; Food
"D major , % Word beginning with ‘D’ and
is related to 0j ending with 'B":
B minor szg Djh

“Werite these key signatures {uatch ot for clef changes!):

A e SEF e
(P Z I y
ANS "4 AN "4 had
(Y] )
D major E minor D minor 8 minor 6 major




Three New Sharp Keys

There are three new major keys with sharps in 6rade 2.

How many sharps does A major have? 3 How many sharps does E major have? i
What about B major? __5 ___ Do the sharps always occur in the same order? __Yes

A major
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E major B major

Sharps are ALWAYS written in the same order:

F CG D A E B. Here is the entire ‘family’ of sharps:

#,

X

P’ A

-
233
it

il et
I ]
hel

ho oy
bl

C 4

PR §
L . 2 0 S

o

$iall

syl 1L
1

AN

Ti

There is an easy way to remember this order. We just need a sentence where the
beginning of each word tells you the name of the sharp, for instance:

‘Fat Cat Goes Driving And Eats Bananas'

Try making up your own sentence herel (o to wublitdocks.coma for some greal Sentence Weas!)

Fat

Cat

Goes

D m‘z}ng And Eaofs BMMS_.

Apart from getting the order of sharps right, it's important to write them in exactly
the right position every time. Write these key signatures (uatch oit for cfef c’\anges!):

ﬁj‘_g oot Qf’:ﬁ#i . L'l'f 7 H T
hdll LX TR 7 ANAEK 41 >)s n..w'g Z\ #p
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E major B major A major E major B major

~ Three New Flat Keys

There are three new minor keys with flats in Grade 2.

! H_1 N 1.
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G minor C minor F minor

How many flats does G minor have? _2__ How many flats does F minor have? _#
What about € minor? _D Do the flats always occur in the same order? &S

ﬂl.
o 1T
P AW N

P
AN "4

Flats also are ALWAYS written in the same order: )]
B E A D G CF. Here is the entire ‘family’ of flats:

You might be thinking we need to make up another sentence for the order of flats.
Well guess what? We don't have to... it's the same as the order of the sharps, but
BACKWARDS! (Ho conenient)

We also need to get the positioning of the flats just right. Write these key signatures
(uatch oot §Or c'ef c'\anges!)i

; 0 0,
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F minor C minor- G minor F minor € minor




Let's Write Scales Raising the 7th: A New Look

-€ —

>

TOP TlPS forSUPBASca'es : | . | R ' | | Up until n?w we have always raised fhe'7th usi.ng a sharp sign. But C minor and F minor
et A A oo need special treatment because of their key signatures.

”Semlfones in major scales fall between scale degrees 3-4 and 7-8 - Let's look at the scale of C minor:

"Semitdnes in minorscales fall betweeﬁ» scale dégrees 2-3,5-6and 7-8 -

@ Avoid marking 6-7 in minor scales - this is not a tone OR a semitonel _f 1 N The T rote 1 b |
9> Count up from the LOWEST note of the scale when marking tones or semitones {0 =8 - ¢ 1 kno thd E 2 because
- Remember to raise the 7th note in minor scales © < of the ey siguatr

€ Tick off éa;h scale instruction after you have checked it!

If the 7th note of the scale is a flat, you must use a NATURAL sign to raise itl (Do this ne)

1. .Write a B major scale:

Now try writing an F minor scale: ‘

* write one octave going up - 2 ‘
—o0-2

* use a key signature ITLLE - S————— o * write the key signature
* use semibreves = Ht * use crotchets
* write one octave going up
2. Write an E major scale: * - raise the 7th with the correct accidental (jos von't be gien such nice reminders in the esap)

V
|
* write one octave going down S .
4 : 1 1 i
* use accidentals e — e
g 1) Ha 1 1 4 1 T 1 “ Il - i
* use crotchets w4 . S | Y S S S—— {
1 ~—"~— #? G
* mark the tones \J}\/ :
Werite a € minor scale:
3. Write the harmonic minor scale with this key signature: * use accidentals # o —
3 = | B N
{ Fan) ~ D<) O

* -write one octave going up I~ * use semibreves o — = o

* use minims ,‘\'j{.JLL 1 ', ,,," p/\lc, * write one octave going down

* mark the semitones {f)y“Ld —C— — * mark the semitones

4, Add a clef and any accidentals required to make this a B harmonic minor scale UNTTTID Al b . . .
| HOT HP:-?:W\BMOUMN{% C\mln°r=0r‘r’:mln°r ul{LacclJenfa's |ns£ead OE a
| Z % o . i 10y . . .
| ¢ S e — — ;ms‘,is,‘% kegfslgnatvre.:tke'7t‘\:note;Joesn't actva”J need a natural slgn!

] . [y i = N— : LooEed T :




Two Octave Scales: Double The Fun!

For second grade we have to be able to write scales over two octaves. This is easyl
Just remember 3 things:

1. You will end up with 15 notes in your scale (don't repeat the riddle ote)

2. You'll usually need to start above or below the staff, otherwise you'll end up with
too many leger lines! :

3. If you write a scale with accidentals or with tones or semitones marked, you'll need
to make sure those things are marked in BOTH octaves.

Sometimes you may be asked to write a two octave scale that goes up and then down
again - one octave in each direction. The trick is to remember that the lowest note

. is always no. 1. This means that you should mark tones or semitones starting from the

lowest note on each end. Mark the semitones in this scale:

&5

_\;jL;__'__‘_j:‘

Well donel But what if the scale goes down first? Then the lowest note is in the middle,
at the ‘bottom of the valley'. Try marking the tones in this E major scale:

} .
1 3 el l __+
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r.d I
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Middle ton'e note
( appears once onlJ
. Yy’
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 fanY Y . U-i - —
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Seale Jegree no.d Aecidentals and semitonts

‘econes no. ].

Jeale aiari\
belou the stag

Try writing the scale of D major following these instructions:

narlneJ in upper octae {oo

write the key signature -
use minims
write two octaves going down {jou'll need to stat abore the steff on a leger tel)

* % % »*

complete the scale with a double bar line

Sy —P—p— =
P — ! e ———F— :
Did you check the clef?

Good workl Now write the minor scale that contains three flats:

* write the key signature

* use semibreves

* write one octave going up and one octave going down (don't repeat the iddle note!)
* mark the semitones {in both octares)

* complete the scale with a double bar line

o bd W bS N

. =} o | — | & S—— —
— J Py
] ~ (o)
o)

o

_Groovj GUlJellnes EOr urltlng Tuo chave Scales

FWhen wrmng a scale going down, sfurt above: the staff
When wrmng a scale gomg up, sfcrt below the staff -
Make sure you have 15 nofes in total (donf repeat the middle note)

Remember fhm‘ tones und sermtones must be mnrked in BOTH octaves




Scale Practice

< >

1. Write a minor scale going up and down one octave starting on the given note:

* -use accidentals
* -mark the semitones
* complete the scale with a double bar line

__n l ’ e W o 1 N
o N I ) 1 | BTV A) 1 1 1 i
)| | 1 I )
] ) 1 1
N L 1 \ 2

2. Add a clef and accidentals to make this an A major scale (remember fo add the accidentals n
both octaves!)

L
_6_}0_\_’__};:(’ P e LLgl N P —
2 L 2 e [ @ ] P | .V AN
y 4 Oy P AJ PN
1 ~ [ @ ] e T N AN

Sy DTD YOU FHOVL. The 4o for doted cnis ahags gons T the space, een en the ne  on 2

lmeoilmue we 'c'axn"{_'sve;e;{lfén! Pit the Jot n the _ﬁea‘re;{;yace a:!;w.f ey == o ==!

4. Write the scale of F minor

* write the key signature
* use dotted minims
* write one octave going down and then back up again
% mark the tones
/T S/ /19 D . W 1 Yz ™ 2 o rym am .
_h_ vV L] o a N ! i O ) i | 1
(&S —U _—T Y —A= = 1
A4 VT L {
v p—— \_/

Tiny Test

1. Name this key signature: % B mayor
J

(Y)

JT
{’J: i

4

2. ‘Write the key signature of & minor here:

the sharp before (cicle correct ansuer)

3. Inthe key signature of A major, the third sharp is wriﬂen lower than A

4. Write the major scale with the key signature of four sharps:

write the key signature
use crofchets

*

*

* write two octaves going down
* _mark each semitone with a slur
*

complete the scale with a double bar line

= -_
_9,,11 ::':_::.p_j._f_ — ,
«E ﬁ 41: ; 1 } } 1 1
o — —t— —y——2 )
Vv i 1 I I \ bt j o
) oo — d
5. Here is a € minor scale with at least five mistakes. /5

Can you find them all?

FnN FaN f
P/l hY [ AN P 1
H51Y A v v 1
Xy m 1] 1 £. 3\ Nl A1 v {
b\v' 11 ) o . AY -3 L 1 ] L
N 4 @ Uv

/20

Total:

11




Scale Degree Names | - Writing Scale Degrees

> < —>

Many times we have referred to scale degree no. 1 as the 'tonic’ (e.g. tonic triads). This In this part of the exam you are tested on two things:
is known as a ‘technical’ scale degree name. Now it's time to learn the technical names

for all the other scale degrees! 1. Your knowledge of all the technical names for scale degrees

2. How well you know your key signatures!

Jcale Degree Nomber |~ Technical Name Ham{y Hint fw RememLering For example: -
—
1 TONIC You already know this one v
F minor, mediant
2 SUPERTONIC ‘Super means above- First, you need to write the correct key signature (do this now). Now, which scale degree is
. the mediant? Number __3 . So now you need to write the note which is scale degree
3 MEDIANT Think 'Doh-Reh-Mediant’| no__3__ of F minor (do this nou. Well donel
4 SUBDOMINANT *Sub’ means ‘under’ As you can see, if you know your stuff it's pretty easy. But here's a trickier question:
)
5 DOMINANT You just need to know this one @H—h—h—e——-
[Y)
Mediant is 3 above (1-2-3), so € minor. leadin
Y g note
6 SUBMEDIANT 'sub’ mediant is 3 below (1-7-6)
7 LEADING NOTE It 'leads’ to the tonicl Write the key signature and the correct scale degree. But... you're not finished yet.
Think: what is special about the leading note in a minor key? That's right! You'll to need

to raise this note with the correct accidental (hik: don't forgel, i may need a sharp R  natual)

Now write these key signatures and the named scale degrees (uatch oit for clef c‘\anges...)

Notnce kou tlsere s o nUrﬁLer B2 We talk about no. & uhen referrlng

o sl bt . 5 realy st 1= the R e
: {0 5ca es ot no Is rea JJUs{, the sameé as no, L — lt 5 the onlc, = @ﬁLﬁn 0 X @Af,\ =——i{ey #
) [Y) )
A major B minor E major G minor E minor
The following notes are all from € major. Can you write the correct scale degree name submediant leading note subdominant supertonic leading note
9 J 9 P 9
under each?
_9 < © (@ ] _(l« #+ P h 1 [l A
B i = e i — AUy A
Sy = c j‘_@ i y A Sw— (& .4 -] @_Lb =
Y] [y ) )

$ submediant _dominant _mediant B major D major F minor A minor € minor
Subdomingn —J‘MMQ— mf’m dominant leading note leading note mediant dominant

note
. : . 13



Revision Test

- T >
1. Write the harmonic minor scale that starts on the given note A
* write the key signature
* write one octave going down and then back up again
* mark the semitones
* complete the scale with a double bar line
0 7 — : 1 1 i 1
[ > 1 1 ! N 1 H 1 [ J ]
| 1 i 1 I [ i
= 1 \ .
N ~"
2. Write the following key signatures and technical scale degrees. /ﬁ
- T 9 7 Q—D 9—4“!‘_4”1“
— e X TH y AWENYY 'l-. o5 V AN "DAN V AN K . N
2 ‘F e S HEEAY-Y Ty I_b ~ | an YL AN /) W) M -~
p!3 Y k@] oV o] A 74
) () v () )
B major 6 minor F major € minor E major
supertonic ‘leading note submediant - subdominant dominant

HOT TIP: - The onlj tine. Joa need to uorrj a|>ovt a“mg a acclJen{a] s Jor £|\e leang note in MINOR keys.
M Oon { raise {'\e 'eaJms no{a tf the Lej s niyor. ’

3. The following key signatures are all minor. Name the key and the scale degree: ,ﬁ,

4 ) 04

ik p” A 3 ) i3 Y] >

ik ¢ SR 1 Va0 hadll FYHE# A0 2Y hdf I ~ y AV
ATy [ . N A _H 1V y 4 | Fan) [ @ ]
T g 5

_ﬁ_ minor

Key: _B_minor _[lr;\inor _E_minor _A_minor
Name:J.mdmﬂ._mh _mediant _mizzimg Subwediort  subdominant

14

4. And now do the same for these MAJOR key signatures! Ao
T . O . Q_J‘-: #.
Y~ XN . A &) )2 P D%t o> Al
itV £330 ~ Foitl hadlf £ V 4L N . 3 T V UMWY . J
Z 1l 21l ) AR = {EN_T 1 | & <o Wi LI
— hil [ @ ] = bl ot %4 AN kil NV
F= N )] ] N
Key: _A_major D major L major B major E major
Name:__tont¢, submediant |md::\3 note mediant dominant
5. Add a clef and accidentals to make this a D major scale. /5
i : -
Yoo # ) -
hed } - '
.
6. Fix these key signatures by rewriting them in the space provided. A
)\ 0y . "
5T A SYe—r+ )ity
[ far WA ) [ 2 LA ) V AN SR ) 1,
Sy bt ANAYJ et Lo T - M k93
o 7P ) MY )

7. The following are all leading notes of minor keys. Add the correct accidental /5
to each (hiak: don't forget gou st ratse each one uith a sharp (R @ natura)

‘; | ho # O
1 2 b S 1 - A2 . Hd P’ A Iy
i b 17 hadlf LYY Y 4 hot hedll XY B V W S i & )
a2z 4 2 b 1 | £ an WL . | € on WAL
07— o — O)

1 te

Total:

15




Intervals

< >

In first grade, all we had to do to name an interval was count up from the bottom note.
This is why we had to name them ‘by number only’ (4th, 5th, etc).

But now we have to include more information than just the number, We must also name
the ‘quality’ of an interval (eccaalh)

There are three types of ‘quality’: major, minor and perfect.
Major scales contain intervals that are either major or perfect.

Harmonic minor scales contain all three qualities of intervals: major, minor and perfect.

o e sl o o

oyt o

Look at these intervals above the tonic of D. The top note of each interval comes from
the D MAJOR scale:

O O O [ &) O [

perfect unison - major 2nd major 3rd  perfect 4th perfect 5th major 6th  major 7th perfect 8ve

Now look at these intervals. The top note of each one comes from the D MINOR scale:

0

1 Y
Y 4\ Do N ® ] -
| oY > [ @ ) v bal
- O (&) ¥
[ ® (&) [ ) [® ) O (S ) LS )

perfect unison major 2nd minor 3rd  perfect 4th perfect 5th minor 6th  major 7th perfect 8ve -

nﬁngs to Notice:
* The 3rd and the 6th are the only two intervals that are different in the two sets.

* The 2nd and 7th are 'major’ intervals, even in the minor scale. More about this later!

\Unisons,, 4ths, 5ths and 8ves

Look back at the intervals on the previous page. The unisons, 4ths, 5ths and 8ves are
the same in both scales, These are the 'perfect’ intervals,

Unlwns qi'\s 5%5 aml 6ves e aluajs PER“:U This s Lecause these.

lntervals are exacilj tLe same ln maJOr anc! manr scalea. UnlsOns lm\s Dths

anJ 8ves are NEUER maJOr Or mlnor i anj scale

When naming intervals, always write the quality before the number, e.g. perfect 4th,
not ‘4th perfect’. The exam question often says ‘name these intervals by number and
quality’. Don't get tricked - you must always write ‘quality’ first]

Name these intervals by number and quality (remerber, wite ‘perfeci Wik, not “Yth perf!cw:

0O

o o
wax ¥ p” TY r . Fa Y
¥ D wO y af Ml 1) = © A 3
.4 = [ Fan y 4 © (s y 4
-~ AV = fatl > SV > o

944;:.!'_&!.' F“t"t sth

#‘—m ) o oy — 9 (@)
1 L] L]
y mlfibc "1. P=Y -l‘. (® ) "’\n
-W S Ty >
) [Y)

perfoct uaun  puefect 4% purfaebBue  pechd B perfeet 48

These perfect intenvals bave accidentals... it -y
doesn t c'vange the fad that t'\ej are Perfec{!

17



2nds and.7Ths‘»

2nds and 7ths are a bit tricky. Although these intervals are the same in both major and
minor scales (have a look back at p.16), they are not perfect, they are MAJOR.

Minor 2nds and minor 7ths do exist, but not in the scales we're doing at the moment.
All harmonic minor scales contain major 2nds and 7ths. :

2an anJ 'Ms are aluajs MMOR evep ln minor- l&ejs. n\ls Is Leca%e ﬂxe

scaIEs ue at stUJJlng do. not c0n{aln manr 2an or- minor Mws.

Check this out:

There is no such d\'lng a5 a( natwal na ) major 0R a ) barmonic evinor
scale (remenber how @ harmonic minor scale has a raised THh?)

SN
ﬁ AT hre D st ARG e b

3rds and 6ths

Jds and bths can b cither MATOR or "NINOR. Tt depends on the tonie, and

On u'\e{,'\er JOU re Jeallng ul”\ a maJOr or: manr kej

When you're trying to work out the quality of a 3rd or a 6th, use these steps:

1. Look at the bottom note (tonic) and think of the scales that start on that note
2. If the top note is found in the major scale, the interval is MAJOR
3. If the top note is found in the minor scale, the interval is MINOR

5
o—o—

) O

Let's try one using these steps. Name this interval:

1. The bottom note is D, so it could be D major (F sharp, € sharp) or D minor (B flat).

2, The top note is B, not B flat. This must mean it comes from D major, not D minorl

3. Since the top note comes from the major scale the interval must be a 6th.
Name these intervals by number and quality (remenber, urite ‘najor 2d', not Und major’) .
Name these intervals by number and quality (remenber, uite ‘na‘jor Bih’, not ‘Gth n3jor ):
_ O
‘9 Q %ﬁc raY _— 5‘}:4# - ’Q o _9 Q ;L() rays ra 9
{o = (s 7" v 4 [ fan {es = {7 — 7 Ty 77— (es——
NS4 £33 L\ 7 A = Y i ?}{— AN —_— = [® ) el ~ VY @ ]
XY o © v [y it ) v 5
th th nd
maor nd  majer 2d  pajpe B mager 1% gy 2N o 3cd o 3d 3d (o
9 o 0 :
S ) Ao ¢): (@) IQ 5O N ba oy oY ﬁ- "? #0 - b'g‘
9 = S —— == Z—2— I~ (—2——}i(
e = = v *
magor 7% majrded  majudd boje 7R moger IS mnor 6% minoe ¥ ywnor 6% wajorb® oy 310

19




20 Intervals to Name (i« Writing Intervals

< >

N
_y o

Q . l( Q tion: H l J k .- f 9 When you write an interval above a given tonic note, sometimes the note will need an
ek Yuestion, Tlave JOU tarnt JOUr ej slgna Uresess accidental. There's only one way to get really good at this:

Error in text - LEARN YOUR SCALES AND YOUR KEY SIGNATURES!
L 2. meanttobe 3. 4, 5. .
O treble clef o) = A Let's try drawing a major 6th above A, using the steps below,
p° 4 dfc é-\L [ © ) 1 1} 5\; [ @ ]
o —=—f7— —flo—b—t (&
) Y) ¢

- 1. Drow the note a 6th above (easy - the bottom note is no. 1)
o % 2. The question says major 6th, so think of the key of A major.

prficd % magr T mopdd g 6% mine &

Major 6th 3. A major has 3 sharps. Is the 6th note affected by this?
6 . 8 ] 0. 4. If so, add the accidental now. You're donel
—9 Xh [ & ] Y] )= 9 'ﬂg
1o —= [ Fon 7" a0y (oS —
AND"J NP S ] ANV kil > = ANS :
v T [y = The only other thing to be aware of is that some major 2nds need accidentals. When

writing these, special treatment is needed:

majorded  moocdd  perfect 4% major 24 majer 3ed )

No room fOr the s'\ar?/——'\ ¥

next to the [ 5o it goes

1. 12, 13 14, 15 way over on the ]eft
f-o e bo o 0 J Major 2nd
5): (@) hd l.: hd 1': © l‘? (& 0]
> = '%')v“ © '\3) Now you're ready to write these intervals above the given tonic notes:

I
{0

¢

AN [ ® ] hatd

00

O . 0] B
moje 6% porfect 4 pubect 4% pefed BV {uﬁad'_mw F— = Sy 3 R
)

. . . . ;
1 7. 8. 9 20 minor 3rd major 2nd major 6th major 7th minor 3rd
— 0) oo bo ©-
s o i —o —F—5 S 2 0 — .
-~ A7 4 AN .44 -~ el - LA Y af > FV al [ & ] ~Fe _ 1 hdll I
v O Y [ — 5 (@] D — D Aot b A2
or Y] Y] e

punot 3rd pezfzci on ?“tg ¢t & mg“}m Tth minor &M | minor 6th major 7th perfect 8ve major 2nd major 7th
(€1, ) ERES A THIGHT: Yo will rr b askd o e e 2 o  cer b o Grde 2

H]: . ?n';li‘; klcaust these 'u&mﬂs don't exit T he ?éale’ v ’t"'{,l .
20 ‘ | . .
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Error in text - meant to be treble clef


Let's Write Intervals

REMEMBER: Always draw intervals ABOVE the given note, never below!

1. Write a major 7th above each of these tonic notes. Don't forget the accidentals,
and you may need to use leger lines!

X 0 ¥ o-
Iy S W — H— 0
Y o 7 o 7 af (®] y af © HA—Ho A
i FawY N P [ & an Y | & an Y | & an | 4 -
N\ (@) tH)—o A3V L) D—s L€ =
[} o Y] )] Y] =

Incredible Intervals

Quick Revision OE nﬂngs We KnOu:.

* Unisons, 4ths, 5ths and 8ves are _peﬁe_d__

* 2nds and 7ths are mQ:'Or
* 3rds and 6ths can be mq‘lQ[ or MINO[

.
>

HOT TIP Don't 'ei t'\e vOrJ (Perfeci fOOI Jou Into i'\'n'dng aceidentals are pot needed... g0
lac‘x to i'\e oiiOm OE page 11 o see ul\k'\ perfeci lnierva's n%J accwenials

0 s,‘«

1. Write fhesa intervals above the given tonic notes, using acccdenfnls where needed:

2. Write the following intervals above these notes, using accidentals where required: -—9 oo Yoo ¥ {) by o—He 9 '?‘)_
fo—e—i-t teoHile— -7 oo
)| H__ = o) © ¢ ©
- 3! ): A — ): =es A minor 6th major 2nd minor 3rd major 7th perfect 5th
1D c— D — i tO—Fko
(&)
D), ) v o A = <
. . . . K — s o): © o). (@) A vo
minor 3rd perfect 4th perfect 8ve *minor 6th major 6th O—5 '\3 —42 A ~ ':)’9 Y
minor 3rd major 3rd perfect Bve minor 6th perfect 4th
) . . . 0.
3. Write a major 2nd above each of these tonic notes {once agaln, ]eger lines ray be needed!): 2. Name these intervals by number and quality.
_9 A A O
k ) b* 4 e Y p* A O
_9—_“(10 T Q o= T 9 9 QJ\"O 9 J”‘“ oL Z u:: '\’\‘mv_*ﬁﬁ Z—=° '(5‘31“
B, s s s s oo o o 5,
H———KO K= =1L A\ L)
Xy () e v oo o [Y)

DID YOU KNOW “ NtnOr m{ervals ae one. senliom smaller than major. Tniervala An tntenval of

) 2 najor. nd s ac{,na“J a TONE. Ths raeans that a minor 2nd is ad.vauj a SEMITONE. NaJor
P anJ minor sfales ‘_m‘.'\: 'a_egln uld\- a TONE - ’d@i s uby 2nds are 3luaj.s naJOr.

ma\.}o_Z_mnar_b_Man_maJan_%ch_

3. Add anaccidental to the top note to make these intervals correct.

0 Fon, YRNE ¢ ( ® ] e Y ho [ @) *0
— EA hadlf I — hdl I O (@ ) P
e e (5 (&
‘ ()
major 3rd major 7th minor 6th minor 3rd major 6th




Timed Test Time: More Revision (.

- > -« >
Time yourself doing this quiz. Do it as fast as you can, then record your finishing time 1. Circle the correct B major key signature (it rust be corect in both clefs!k:
above. But... guess what? Your teacher will ADD ON 10 SECONDS for every mistake /\.\
you makel It's fun to go fast, but more important to be accurate. Start the clock! ﬁ . fd B —\ g_Ba_ —}
b ST - 20 bk 0P - 10 8 —1l hi e h
| & on W1 ‘TU_I. h L ‘TU_; bed kil z#‘ﬁ v
] o
1. Name this key signature: 1—— minar ) U J . u
o) Grtar \TEatts ya AT D) D
V_ANRAS WY . ] N3l il /7 11 — 1 pI h
. ) . b 7 h AY b LI 1'@[. VA bat hal h LI 1
2. Semitones in minor scales fall between 2 - 2, _S - and -8 N
2. Write these intervals.
3. Write a scale going up and down one octave beginning on this note. Add accidentals
to make it a MINOR scale. N A = o A
=g o
~ [ ® ) ANAY.4 fatl AN [ @ et
0 : A e o >, o J
Y 4 H = - Z L | S 1
xS = oV 7EE—y
5] minor 6th major 3rd major 7th perfect 5th major 2nd
"4, In the above scale circle any intervals larger than a tone.
3. Write the minor scale with the key signature of two sharps:
5. Name these intervals by number and quality. * use the bass clef and write the key signature
A s * use semibreves -
- o . — y * write one octave going up and down
B an) [ & anY Ll [ & on
ANE "4 = AN [ @] AN}V .
Y] © ry) Yy * mark the semitones
mQ}OLt Ed:&_d'_lr_ m_QP_L&_ * complete the scale with a double bar line
N —_
7. Write a minor 6th above this note: —94——6——— a1y ._—‘QU*G—Q_'H,AA ~—o At o S —
= [—H—o——— ~——0
STOP THE CLOCK - FILL IN YOUR TIME AT THE TOPI 4. Add accidentals to make these intervals correct (uam'mg'. some of ther may not need anj!):
After marking this with your teacher, tick one of the following:
0 ] o) bo
| \ R I H—g g oo
DI maJe nO mmtal‘\e&. I DI made mlsial\es, A\a % 7= A\ ANDY - —
—_ () () () ©
ee ime og ey time 1 : .
L P NJ tie " MJ = t me major 6th minor 3rd major 6th perfect 4th minor 6th

24 . ) 25



Triads

- >

Up until now we have only dealt with the tonic triad, also known as chord I. If we build
a triad on scale degree no. 4, it is the subdominant triad (chord IV), and a triad on
no. 5 is - you guessed it - the dominant triad (chord V). Let's look at C major triads:

) e
—
j\ -
i an

S Ty >S4 3% =
e $2 <> [ &) &8 i} -
AN A S 4 L) 2\'. [ & ] —-—
Y © [ i
Tonic (I) Subdominant (IV) Dominant (V)

The chords on the tonic (I), subdominant (IV) and dominant (V) are known as the three
PRIMARY triads. (Notice vt l'uljs ust Roman numerals hen rtferr’lng to chords!)

.t' DID YOU KNOW A” 0£ i'\ese cLOsz are.in ‘root. powtwn This
means t‘waf t|\e 'JOHON nofe Is; ﬂ\e roo{ Eﬂ\e chord.

‘Write the three primary triads in the following major keys, then write the name and
number of each chord underneath. You may write the chords in any octave.

P’ AT K] )2
- iy S =y o]
AN + — & o]
') A4
Tonic (T) Subdominant (V) Deominant (V)
=
-'I:l 5 Q g
Tonic (1 Sulodominant (V) Deminant (V)
-4 < o
' < #1- o b= 1 fo]
A &
0y,

Dominant (V)

Naming Triads

In the exam you will be asked to identify the key signature, number and name of a
triad. Always look at the ‘root’ of the chord (the bottom note) to figure out which
chord number it is. For example:

L Oy ’ The bottom nete of the chord |
Ths kej{sngnafvre W 5 (= no. L. This eust be the ‘
represents L minor, \/ {onlc {ﬁaJ of L n'InOr!

Sometimes the key signature represents two keys you have studied, one major and one
minor. There will be two possible answers and you must choose which one is correct.

Here is a typically worded exam question:
‘Name this triad as either the tonic (I), subdominant (IV) or dominant (V) of its key'.

This means that your answer must be either I, IV, or V. If you end up with any other

" chord number as your answer it will be WRONG!

/-\,
\—/

This l\ej signature could

be ] major or D winor

0K, here's the REALLY IMPORTANT BIT!

In D major, the note B is scale degree no. 6, so this would be chord VI.

In B minor, the note B is scale degree no. 1, so this would be chord I.

Which answer is correct? Remember... your answer must end up as I, IV, or V...

So the answer is chord _L__in _& minor .

Name these key signatures and triads as T, IV or V

Ne_ o . ’94
Y <, N > )’ AF) (& ] 24 1 7 YY)
F K7 A Y P4 Y W [@ ] v Ne ptiL [ & ) _ hdf I 42
F 1 1TV > a4 | & an ) y ARG 42 [ F an L P F 49
V17 -~ \‘V > 11 [ @ ] A4 b4 > [ @ ]
e -
Key: Eminor Eama}ar_ :D.mqm m A minor_
Triad: v |




Chord V in Minor Keys

Chord V contains the leading note (7th note), and - as you know - in minor keys the
leading note needs to be raised. Let's look at chord V in G minor and F minor:

01

This 1s the leaJing note, It must be
@ ralsed vith a a'\arp (do ths nou)
@ Th b e e e be e
vith a natural (do this now)

Q000 VL. Tt s, e gt s the DL el o o

The following are all dominant triads in minor keys. Raise the leading note (middle note)
- of each chord by adding the correct accidental:

Y T A T © ) Fon Y ; P 51 9. .

My LN/ WX ® ] il FX .75 54 hd? FYH/J S y 4

7 51710y y A1 = Z 5T S | fan Md — S
4 - © V88 s p= SP—AR

AN .4
o F¥g o

Some of the dominant triads below are from major keys. Remember... accidentals are
not necessary in major keys! Work out which ones are minor and raise the leading note
with the correct accidental.

% )& 3k \ %

&> p* A - I X o S 0 Y e | Y-aYY. ] P LTV

b a4 y o hiy [® ) il I XTNAL. b4 bl IX- 20! 24 kN Py
M Fan b o 4 | 2 W 0 (@ ) AR, .} ba 4 AR 54 1 b4

AND"4 © ANV Ty > Lo b A ) Bt h=d Y S

() [Y) (Y] et
Werite the following dominant triads with key signatures:

P4 . Q h% P’ A -] hg F X (o]
e miEkete e gl il 4
"LLQ L4 AN/ * ro ] @ ~——0

(Y] ()
D major G minor B minor F minor F major
dominant (V)  dominant (V) dominant (V) dominant (V) dominant (V)
28 .

Terrific Triads

e r

1. Name the following keys, then name each triad as either the tonic (I), subdominant
(IV) or dominant (V) of that key.

%ﬁﬁgﬂ—g—a—

Key: _G_rn____ KeY _ma__ Key: _G major
Triad: __V Triad: Triad: __IV

2. When writing triads, we must take special care with: (cicle correct ansuer) -

A. Chord Vin all keys
Chord V in minor keys only
€. Chords I, IV and V in minor keys

3. Write these triads in root position (ubich is uhat ve've been stUJj'rng!) with key signatures.

(o] n 1 n 4 5
V- Y] & 3°. 1 O &3 1 [ o b o oF B )= 4
hdll L7 ) hdlf T39S 2 4 bl B P! [v>] L hi 179 24 y 4\ il b4
7 1L [o) y AN 23 A ) 1. 4 | Fan W’ LS B2 | & on Wl ~
— .. o) A2 © <y o sV
Y] 3]
D major F minor E major C minor B minor
dominant (V) subdominant (IV) tonic (T) dominant (V) tonic (I)
—an-L" [, P g e X7 KA =y 9 =
y Al 1L il LX;1 8 o4 V 4 ~ ~Fett, M p2 4 y AW b T4
|  on VAN (@] yi i 374 | £ an Z 2y < 1Y AN >
NV (@] ~ SV hd L SV ~
() o ) N )
A major E minor A minor B major € major
subdominant (IV) dominant (V)  subdominant (IV) tonic (I) dominant (V)

4. Write the key signature and the three primary triads of F minor.

] O 1 Q
[+ B 23 joIo]
hiV (o) b4 5]
N Fanld] [o) ©
i 3
| \' 29



‘Revision of Stuff So Far

‘1. Write the scale of A harmonic minor
* use accidentals
* use minims
. . T ; # =
* write one octave goingup —Jf !
[» 4 e
% mark the tones ~
* complete the scale

with a double bar line

==

PE=

2. Name these MINOR key signatures:

_B minor F minor
3. Write the following intervals above these tonic notes:
# W f) H-e- ==
&) b 4 &) [© )
[ @ ] hdll 1Y 7 &> I D
1D A—Pho G — -+ D
v © v v Fo>
major 7th perfect 4th major 7th major 6th major 2nd

-4. Do we ever come across minor 2nds or minor 7ths in the keys we study?
Yes / Maybe (cicle correct ansue)

5. Write these scale degrees with key signatures.

O )
- 531 o 4 o . oM 4
—_— O bl 139811 V AN | =N ”\!‘:b hadlf LF LI
y AN e A _hl ho |  an Wkl ~ 4 VAR =
—_— L — v i L2 A4 AND "4 ANE4 £ hid ~
! ()
F major C minor B minor D minor A major
submediant leading note tonic mediant supertonic

30 . .

6. Write the three primary triads in D minor:

* -write the key signature
* _name and number each chord

Ior—— 8 #R
AR 74 [ &) el
3] © :
Tonic ( 1\, Subdominent (T0) Dominant ()
7. Name these intervals by number and quality.
O
) = f)
ar - X0 )’ 4 1 XY -~ P A oY) o~
e [ & ] Doy hdlf I V 41 &> hdlf £ o
~ S H—O o ) — i—
o (Y v o
ma\}or th minor 3dd minor bl Tpe.(&d Bve Pu{}d Sil

HOT TI0: If yousee 2 riad ith a hey signabue AND.an accidental, t's an absolete gheauay thal
a’g’,i\‘% “it's the dorvinant triad (chord V) tn a MINOR hey ! -

8. Name the following keys. Then name each triad as either the tonic (I), subdominant

(IV) or dominant (V).

S

S5 Py ﬁ&
WV AR O

ANA 74

()

-

Key: _E minot
Triad: Subdomirant 1V

Key: EfMigor
Triad: _Tonic |

9. What is special about chord V in a minor key? It containg the lea dmg

nok whida must be rajged

Key: _ B minol
Triad: Dominant V

31




Box Puzzle

Fill in the answers to the clues below, and find the answer to this question: Which
intervals can be either major OR minor? (Answers at www.blitzbooks.com.au)

Ple~|l IM]|A|k b

S

Ell|VI|E S

\

R
0
0
M

oz

A
P
K|S
N

l

O™

\|[Z [N | &

)

=

@)
Z |
O

4|0
M

||
-
>
<

T

NI BRI R R EI )

AR

M mP M| AL

L [F
| |G |N

NIA[T|u|R|A|L

. Chords I, IV and V are known as the three (2 words)
. The key signature of B major contains (2 words)

. Another name for a semitone (hint: smaller than a major second) (2 words)
. Technical name for scale degree number 2

. Technical name for scale degree number 4

. Seconds and are always major

. Leading note of 6 minor

. Italian term meaning slower/less speed (see page 61)

\O 0 N O O A W N I

. Technical name for scale degree number 7
the middle note
11. Note worth one quarter of a crotchet (see page 34)

10. In chord V of minor keys we must

12. 'Submediant’ is the technical name for the scale degree
13. Unisons, 4ths, 5ths and 8ves are
14, A dot adds on the value of the note (see page 35)

15. Sometimes, instead of a sharp sign, you may need to raise the seventh with a

32

(2 words)
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~ Time And Rhythm

Let's revise some first grade stuff.
Can you fill in the missing information in this table?

Note/rest Name Nomber of beats

o Crofchet I

. Minim 2

d. Dotted miniw 3

o Semibreve 4

ﬂ Two quavers |

3 Ceotthet rest [
E Minion  rest YA
=== | Sunibreverestorwholebarrest | “0 TR TR

‘b Quavesr '/2

‘/ Quavel rest '/2

Quick Question:

J+--+J .h-e-

+ J] + 7 i‘eala

i 0D 0L OV bl b s e aJoker o gk e T il bl b

B aﬂenct no maiier u‘\ai il\e Une signatwe ls

33



Quavers, Semiquavers and Rests

>

Quavers are worth one half of a crotchet beat each. Single quavers have one tail, and
groups of quavers are connected by a single beam.

.M * ﬂn:m}:z m=%+%+%+%=z

Single quavers always have their tails going forwards, like this } or this D . They

never look like this q' or this d.l

Semiquavers are worth one quarter of a crotchet beat each. Single semiquavers have
two tails, and groups of semiquavers are connected by two beams.

- 1 ﬁ..l 1 _ 1 J -1 1 1 -
ﬁ-z = F+3 % o st+iriei=l

iM‘v" ﬁ HO {.T'P l ’ ' 'has 2 beafs c‘m‘d ‘ Jc’ahas 1 'bent.‘. bon‘t mix them up!

A quaver rest 7 is like a curvy sort of number '7". It has the same value as a quaver:
one half of a crotchet beat.

A semiquaver rest is like a quaver rest with an extra hook: 7 It has the same value os
a semiquaver: one quarter of a crotchet beat.

Trace and draw some quaver and semiquaver rests here:

34

Dotted Notes

A dot next to a note makes it longer. The dot equals half the value of the note.

So J. is the same as J + J = 3 beats.

It works the same woy for a crotchet: . J « is the same as J + ob = 1% beats,

DID YOU KNOW ﬁ JOHEJ crOic'\ei cannot. appear on its oun in
Slmple i'mﬂ (nore atovi ”\ls 'aier) It r‘ws{ E uoueJ y 2 QUaver or
q'vaver res{ f.o make li vp to {uo cr0£c|\et Leafs X .ol o

Now fill in this table:

Note/rest

‘Name

Nupaber of beats

)

Semiquaver

Y

7

Semiquaver rest

V4

Jj Two semiquavers 1 /2
Py J pu Four semiquavers I
ﬂj] Four quavers 2

" "Dotted crotchet | g

.. D

-Dotted crotchet and quaver

7

Quick Question: ﬁ + 9 + ddde + JJJJ + J + J .bz 7 leats

35




Completing the Beat

In Grade 1 we learned that -b must be followed by -b or 7to make up a whole beat.

In Grade 2 we have other values that are ‘incomplete’, like J and ﬁ and j, so all of

these must be treated with special care when completing the bar.
This bar begins with a semiquaver. Let’s complete it with rests:

1. Follow .B with ¥ to make it up to a half beat

2. Add ¥ to make the half beat up to a whole 11—
3. Complete the bar with two crotchet rests

(remenber yoo can't have a pinin rest on beats 2 and J)
Good workl Now let's try one that starts with two semiquavers:
1. Follow ﬂ with 7 to make it up to a whole beat = ;( }ﬁ
2. Complete the bar with two crotchet rests —
And finally, what if the bar begins with a dotted crotchet?
1. Follow J. with 7 to make it up to a whole beat -

7 =

2. Complete the bar with a minim rest

(s SOOJ to o5 rinies rests on beats J and 1)

All of the following bars begin with incomplete beats. Using rests, complete each beat
before moving on to the next - don't leave quarter or half beats on their own!

g1 o ST K
r 4 ] .4 : ] - .
* T | ey 1 e =
" A D I C

36

The Triplet

- S
Y "
3

A triplet looks like this » or this . It is equal to one crotchet beat.
P
3

The formal definition of a triplet is::
‘Three notes played in the time of two notes of equal value’ (learn this!)

o JT3 - .0 .

A triplet ALWAYS has a number '3’ on the top or the bottom of the group of quavers.
If there is no number '3, then it's not a triplet!

Triplets only ever occur in Simple time, where it's the only ‘legal’ way of grouping three
quavers together!

Fill the following bars with triplets: (don't forget the mnber J)

1 =~ 3 3 3 3
2 L{ \l LL{ ¥ &) I _{ 11 - — "
Zr 2 rry e I e
a 3 3 3
% =TT | i O D A 111 A
Y_ 11 A y 4 J 31 11 ] J 1] A d_d 1 1
- /1 T 1 1 | i V LY AV 4 | S D A | v ¥ - L | N |
. 3 r 7 31 1 | - = y AV A A | e nend
) S——
3. 3 b
Insert the correct time signature for these rhythms:
3 3
- — 5 a ¥
. LAY 4 ‘A
3 3
J oy « e — | - 1
t g 1 I ¥ = i 1 = Y
e e A o S — A — -
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Simple Facts

-€ >

2.3, 2 ond C are all 'Simple’ time signatures. This means each beat can be divided into

two: J = D . In Simple time, the strong (S), medium (M) and weak (w) accents follow -

the crotchet beats. Fill in the missing information here:

formal Definiﬂon Accents

Simple Duple time Sw

' Meaning

Time 5ignafure

Two crotchet beats per bar

Theee crotchet beats per bar |  Simple Triple time Sww

Four Crofchef beats per bar | Simple Quadruple time | SwMw

Simplz_Quadmp[g time| SwMw

O |- |dwldw

_5"_ crotchet beats per bar

Circle Troe' or False’ §0r the fo“ouing statements aLOUiSimPle Time:
True /

* A dotted crotchet must be followed by ,b or 7 CrueY False

* A dotted crotchet is a whole beat in simple time

* It is OK to have a triplet without the number '3’

* ooes has the same value as ﬂjj

* Two weak beats may not be grouped together / False
* A whole bar rest (——=——) can fill a bar of any time signature ue False

* There are nine planets in the solar system (o this & not really about ‘W" time) True /

6004 u0r|&!
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Time

o
=

Meef

Up until now we've only had time signatures with the number '4’ on the bottom, eg. 2,

3,and 4. These are 'Simple’ time signatures - let's imagine they're from Earth.

Well, § is a ‘Compound’ time signature. It's so different it's as if it's from MARS!

The '6' on the top means that there are 6 beats in the bar, and the '8’ on the bottom
means that the beats are quaver beats. (In fact, in § we usually call the quavers
‘pulses’ rather than beats.)

BUT... the proper definition of § is NOT 'six quavers per bar'l (Contrary to popalar opinion)

Let's compare the time signature of 3 . It also has six quavers per bar, and they are
usually grouped in twos, like this:

) ] ) e |
e ]

This grouping shows us three crotchet beats.

But §, which also has six quavers per bar, is very different because...
THE QUAVERS ARE GROUPED IN THREES! (Incredbly important)

Soin §, a bar full of quavers looks like this:

-
1

] This grouping shows us two dotted crotchet beats.

B Compound’ 'rtme means dofted beafs In 8 there are 2 dotted crotchet beats per .
‘bar Thls menns 'rhe defmmon of 8: ns ‘Compound Duple : '} '

3 s g 2 Siogle Tiple 8 Corvpound Digle

2] 23 /]

Gmuping of quavers

JJ J .

Deats shoun




6
8

-

is from Mars

S
v

As we discussed on the previous page, § is incredibly different to the other time
signatures we've studied. The grouping is all different, and we have to switch our

thinking...

6rOUPlng
Rules

Simple (Earh)
Plain, undotted beats

CONPOUDJ (Nars)
Dotted beats

GrOUPS OE

Qvavers

%, 3, 2 and C live on Earth,
where quavers are grouped in
TWOS.

8 comes from Mars. It looks

completely different because the:

quavers are grouped in THREES.

Dotted
Croic'\ei

On Earth, J is worth 14 beats.

On Earth, d. must be followed by

.b‘or' 7 to make it up to two beats.

On Mars, J does NOT mean 1%
beats.

On Mars, J = 1 beat, It fills up
half the bar,

Plain
(rotchet

On Earth, a plain crotchet is one

whole beat.

On Mars, a plain crotchet is NOT

a whole beat.

J must be followed by ob or?

Singl

Qvavers

On Earth, we cannot leave single
quavers 'stranded’ without their
other halves,

.bmusf be completed with -bor A

On Mars, a single quaver must be
made up to a dotted crotchet
beat. It must be followed by two

more quaver beats!

sl indoieVats. Compoind” s doted bees.

Accents and Grouping in 2‘

T »

The six quaver pulses are accented like this: 'STRONG weak weak MEDIUM weak weak.

SJTISTI 8§ Md 8l )

]
Sww;Mww Sww'Mw w Sww:Mww

Groups of quavers must begin on a strong or medium pulse. It helps to think of J asa
‘group’ of 3 quavers and

g My 7";}7 7

Sww'! Mw w

as a 'group’ of 2 quavers. Here are some more rhythms:

§) v v g1 2T

Sww Mw w Sww,M ww

Notice how crotchet rests only occur on strong or medium pulses. Weak pulses may only

contain quavers or quaver restsl| -

HOT Hp [JOlc‘seis am} crotc'\et resf.s naj Onlj occir On 5£r0n3 or medwm pvlses.
m “\ais tecahe J anJ 3 are 3(00?5 OEZ Qvaver Pulse;,

Write the accenfs (S ww M w w) under these rhythms,

FANE R NI T

™M W S ww it w w

e e -

JJ)

™M oW

A great way to check your work is to draw a dotted line down the middle of the bar.
Try this with each of the bars above, e.g. g‘ oy m

Now it's time to get creative... compose 4 bars of g time here. Check your grouping by
writing the accents and drawing a dotted line down the middle of each barl

g,J- 200 NI N A I 1 2 A A 1 O

T
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. Completing the Bar in g . | Infroducihg

>

Y

.

When completing the bar, remember the accents for the quaver pulses: Sww M w w. 3 means three QUAVER beats per bar, simple triple.

Oh dear, T hear you saying, what planet is this one from?? Don't worry, 3 is from Earth
too... it's just like 2 but with quavers instead of crotchets!

HOT TIP Qvaver resis s'\ouu 5 grovyEJ Inio a crOchGi resi Ei'\ej starl ona sf.rOng or nern teai Eg
url£t37 no{‘/‘l'l ; " ‘

2 = J J J = 3crotchetsperbar = simple triple

Complete the bar below with rests: | "

P % s -b ob ‘b = 3 quavers per bar = simple triple
1. The crotchet is worth 2 quaver pulses (S w). Follow it

with 7 to complete the first half of the bar. Jee? These beats are not dotted! That's uby 3 15 @ SINPLE tire signatare,

. 1 ~ ]

2. C?mplite the second half of the bar j= + < = It is also very common to see all the quavers grouped together like this: m

with & 7 This is quite OK... 3 is the only ‘simple’ time signature where a group of 3 quavers is

allowed! . m

Good work! Now let's try one that starts with a quaver: 3 i 3. '

The beats for 3 are just the same as j: Strong, weak, weak: S ww

1. The quaver is a strong pulse. The next 2 quaver pulses .
are weak, so you can't write 3, you'll need to write 7 1

2. Complete the second half of the bar X g ob J jj 3 ' x g J\ ¢

Just like any other time signature, you can't group notes or rests over two weak beats:

N N
with 3 ¥ S —F—&¢—
&P FrFrl 8 PIREE
Complete all of the following bars with rests:
Semiquavers are very common in 3. Make sure you always follow ﬁ with 7 or -hl
< 3 =] . T ’
——G— < € F . .
— Complete the following bars with rests:
'Y ~ k““" e h I‘\' = F
—F———H Y—7— — 7
e ¥ oy * ¥ T
Complete this bar with semiquavers: — 1
Z =7 rS— — Su— ) — P . q ™ — 1 |
{ L 46 I '[ 7 7T
Now check your work by drawing a dotted line down the middle of each bar. Make sure -
4pYou can divide each bar into two sets of 3 pulses eachl Write one note that would fill this bar: J




Complete These Bars

ol
- >

Fix These!

In the exam you'll be asked to complete the bar in different ways. You must be able to
switch your thinking from 'Earth’ to ‘Mars’ depending on which time signature you seel

Simple (tarth) - %, 3. 4. ¢ 3 Lompound (ars) -

*  Make half beats up to whole beats * Remember SwwMww

* Quavers are grouped in twos (exceyt in %) *  Quavers are grouped in threes

* Triplets may be found here (exceyl n 3) *  Triplets do not exist here

* Dotted crotchet = 1 beat (.UJ)

* Dotted crotchet = 13 beats

1. Complete these bars using a rest or rests in the correct order.

N A 3
7 £ N < — P L= 1
L 1 Vol Vad 7
1 = = Li
N, N
\Y h J h J ~7 5. [
)| ~ I i Pt el
L] A4 st

’ 2. At each place marked with an arrow, add one note to complete the bar.

; | | | |

N LN » N Y

T 1 £ (77 hY 1} & < 4.

i & r A L4 L & &

0 A ) A

Did Jou see the anacrosis?

’ 3. Complete these bars with quavers correctly grouped

; (> ] 1 g [ —
[? ) i ] 1 1 i 1

| | - i ]

[ J 4 r A
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The following table contains bars of rhythms which have the wrong grouping. Your job

is to write the correct versions in the ‘Fix it Up’ column.

Handy Hint I: You may not change the order of notes and rests, because that would

change the sound.

Handy Hint II: It's fine to change the order of rests. The sound would just be silence!

WrOng X

WLJ s it urong?

fix it "F! v

JJJ1J]

Quavers must be grouped in
threes

T

J !

Can't have a crotchet rest
occurring on a weak pulse

J7E7'

Can't group 4 quavers over
two weak berts

INRIRERER

Doy

Quaver needs ‘other half’;
quaver rest must follow

Pree

A whole bar of silence is
shown by a semibreve rest

§
8
£ JJJJJIJD
i
§

D JTd

Can't group 4 semiquavers
over two weak beats

W | £ | g | FF [ 00 | 0o

» I F

c) ~ |

Can't have a minim rest
over two weak beats

o

bt

i) v )

Dotted crotchet must be
followed by a quaver rest

I B

8 hvvvry

The 4th and 5th quaver
pulses should be grouped
into a crotchet rest

oo~ | FW

D77 €
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Deciding the Time Signature 'Time' to Practise .t

Most of the time it's easy to figure out the time signature of a given rhythm or melody, 1. Add the correct time signatures to these rhythms:

especially if there are some giveaway clues:

O Adtriplet indicates 3, 3, 4 or C. Triplets do not exist in § or 3. e e ot i e 8 S s e i St i i S
e 1 — | = |4 t— 14 —— |

A group of three quavers (with no triplet sign), means it's definitel 8 or 31 3
group q P Y 8org
> The grouping of notes and rests gives clues when deciding between 3 and §.
g s

! L1 )| i 1L A A L7 1 —_— 1 1 1] 1
I LA |4 rr | 4 i m— 1 I

Here are two different examples of ‘grouping’ clues:

‘/—_\ This erotchet rest s a gieauay cloe Eor 8. If this @ RENEMBER: 3 15 the Onlj s'lnp'& time signature that allous thee quaers tole grobpeJ {ogelhr.

2 < - vere 3 there woold be fuo quaver rests,
2. State whether these time signatures are simple or compound, and then whether
/T~ they are duple, triple or quadruple (this a vy formal uay of saying ‘esplain these time signatures tn foll")
e e This grovping Ts @ giveauay cle fOr 3. IE it vere 3 crale Aol
= 8 {'\e t'\re?- qQuaers uw” 'Je grOUPEJ iogeuﬁer. SIM‘D < ‘P £

g Comlpouno( o\ulple,

Add time signatures to the following bars of rhythm:

— i » = A\ -4 i 3
- 1 l 1 L] I Y X2 1 £ L7
Y — o —" < . ‘3. Add a time signature and the missing bar lines to this melody:
3
AT TN = , = * o o
e A S——— Y wdwa e www o ]  a— e —r—1—F
- t < f f T ! —e—1—=¢
0y, v ' [ N ¢
3
Werite the correct time signature for these melodies:
=¥ e —t— . -
SN o ———— - ——t— f 4. At the places marked with arrows, add one note to complete the timing of the bar.
| dﬁ o 1 Z S S o= &
] o L | L 1
AH==4— e e e e = : ==
[Y) L4 —3&1 —— r
I\ =" . :
E T 3 T o e 5. Write the rest which fills a bar of silence: e —
) urd L L 1 — e | 1l ¥ el ————
1l 1] Y % b | 4 i

~
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Rhythmic Revision

1. Complete each bar after the given note with rests in the correct order.

1 S 1 N
H— i I >
W » N’ v

2. Add bar lines to the following rhythm: Genenber it's 0K to ‘cot” theough tes and slrs and don't forgel
the double bar line at the end!)

7
[ @ ] .
Z—w— ——p i
—x T i 121 1 ] 1 —1 — ] 17}
i 1 r i 1 bet— | =~ r i

3. Aft each place marked with an arrow, add one rest to complete the bar,

|| S

3¢
f

1 L | 7/ V 4 {1 "‘P
|4 | 4 L4 1

1 T 1 T | 74 1

4. This time add one NOTE to complete the bar! (iaich ot for the anacrsis)

e S b
1 i g g 1 | SR Ao 1 { I DS DR S ) I
V l Vh“ 1 i rll—] | I — |

5. Add the correct time signature and missing bar lines to this melody:

.F
i
ol
&7
N>
o

Tlme: |

Timed Test II

Once again, time yourself doing this quiz. Do it as fast as you can, but remember your
teacher will ADD ON 10 SECONDS for every mistake. Start the clock!

8

s

3
and _§&

3
Whrite two time signatures that mean simple triple: _4

Sy S

Name this interval: % Minor 3(‘&

How many semiquavers are there in a dotted crotchet? 6

Complete the following bar using at least one triplet:
3

% i i

t'\'\w'

Complete this MINOR tonic triad and add the key signature:

In harmonic minor scales, the interval larger than a tone falls between which scale

degrees? _6_ and _7_

# 1

v

Write chord IV of B major here with a key signature:

v 7

Add accidentals to this A major scale and mark the semitones.

[ £ an)

Vv
(]

=2 T kE_~ o IF

STOP THE CLOCK - FILL IN YOUR TIME AT THE TOP!
(1L made no eistakes! I - (11 made ____ istekes

l&eepmj ’umeof o ' 5 MJ n?d time 1
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‘Transposition

S
- >

Second grade transposition is much less tricky than first grade. (Ple.) You will be asked
to transpose a major melody up or down a tone. This means the key signature will
change, and all the notes will go either one note higher or one note lower. Try these:

'Melo‘lj (maJOr On'J) One tone '\igker

e | tieEas =

L

One tone lower

-1 4
ks 1.4
o : ﬁ%r,:\
v = J -

When you transpose a whole melody, remember to add the new key signature AND the
time signature, and follow the shape of the melody exactly.

Transpose the following melody down a tone into A major.

Il
y

fx
j ——

“ﬂ# [N y_] - 1
14 11 — o y B ] 1 H
A bt L2 1 ¥ ] ] __ 1 ~ | o P | I 1 i 1
T I—1 | P gl 1
~J

Good work! Another part of this question is writing in the scale degree numbers for the
original melody, usually for the last five or six notes only. Try this now. (Waming: the fist

umber You write wifl proba e nupber |!
ket ol pobb T e b 1)

e - L4

Here are a few more practise examples. For each one, transpose the melody as directed
AND write the scale degree numbers under the last six notes of the given melodies.

1. Transpose this melody up a tone into B major.

u »- |
'H . [ = ) &y
~f—t L 7 Sl D10 P 7
< 7 y . ) <
) 4
8.7.43 .1
N4 4 Y o 2
o7 ¢ B | { <
G TN S 7Y o T | — — == r— ]
Y 7 VEAANE, ¢ S S 23 —  — ol Yt
AN 7 174 r ll =2

S X = e =
—l "i A A ! ] _P
— -
P cresc., —
715 4 5 |
Fooh NS ] e | | A | r | i ) S | [~ 1
— e i, = ] 1 1 ~ i 1 r ] =
1 —1 L | 1, a 1 hod
= = et :
P Crese. P
3. Transpose this melody down a tone into D major.
—fa 8, =
A gk 1 - —> <
LD —— 1 H ~7 2 )
() -y ~— % y o
5.6.5.67. .1
() o o A N
) : IV ) - o 22 ) 7 A ]
k99 )] N o 1 ./
i — 7 | '/: :‘ ‘; lV
L4 w 4 N
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4. Write the scale degree numbers under the last five notes of this melody, then
transpose it up a tone in to A major.

/L —
o fan) ” - - ! . =
— ] T 1
) y
i x
X5 )| fz / €
) G —
2 | 2 S |
N4 4 ' . - .
m_ { {—— 1 —f—1—
et 2 o — —
d v N R
™ r— 7
7 > — = x ! >
S L] I'I l £ 2 ¥ C
J )
5. You have two jobs with the following melody:
* Transpose it down a tone to F major, AND...
* Fix up all the grouping mistakes - there's one in every barl
-t ey e
NTe—1 el }
\z. — = - _“ic —¢—o ¢
1? L “Ll ¥ \) = 1] A (/ N 3
= T L A o e e e o
- T3 -+ -
52

Word Search

- >

The answers to the clues at the bottom of the page are hidden in the grid!

MY E|N|CIMIR|F|{A|O[N[O|T|W
E[mM[o|RJATS [MAE|T|E|R[S|E
H{W[J[R[NTINAN [LIT[M[E
Clo[M[P[O[INTOINJUIR|E|L |E
(S [E[R[RMBNENNON (W T
Ol | NERE | NDINNR)I T |E
R ENENRTH| NLIT [WLITE|B|R] .
cly RPN N RIATR R CM | |
DIR[L[TNAAPTN | TNTHA[DNCLE
E[L [P UBIENLYE (W11 LA
Tlolo[Vv]J| NOEN [SA\VIR|R
T|P|{T|D[J OO TNDEIDNE) T
o|lelm|p|R|E|E|1|T|D|[T[P|O
©JATT[R[TIC|I[N[O[DR|D|N

1. Symbol used to fill a whole bar of silence (3 words)

2. Chord built on scale degree no. 1 (2 words)

3. Unisons, 4ths, 5ths and 8ves are this quality

4. § means Compound duple

5. Name of this interval (2 words)

6. Formal definition for 2 quaver beats per bar (2 words)

7. In minor scales you must Yais@._the leading note

8. Name of this sign: ﬁj

9. E minor is the _felative. minor of 6 major

10. A note worth 1% crotchet beats (2 words)

11, Simple time has undotted beats, compound time has _dgﬂ’i beats
12. 2nds and 7ths are this quality

13. You must raise the 7th in minor scales with an _actidentsd

The
BlitzDock OE
MUs'lcians‘\ip
Games '\as
moré games,

pvzzles anJ

Has'\cart}s!
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Inventi ng a Rhy‘rhm In the time signatures of 4 and §, there is one strong AND one medium accent in each
< > bar. The upright lines show us where the strong and medium accents are, which means

each upright line represents half a bar, not a whole bar.

In Grade 1 we learned to mark the accents in a given piece of poetry. We did this by
placing an upright line in front of each important syllable, for instance: When inventing rhythms in 4 and §, use the following rhythmic patterns:

|JOCk belnimble, }J“k be lquick : 1 syllable per half bar | 2 syllables per half bar | 3 syllables per half bar

IJ’ack Jump Iover the Icandlz!sﬁck ' 20“ o J J ‘l J D or ﬂ J

If we treat these upright lines as bar lines, we can see which are the strong beats of

each ‘bar’, as well as how many syllables are in each, 6 J J 'b | l ’
8 . :

The number of syllablés in each bar (between each upright line) will determine which

rhythmic pattern you use:
Y P Here is ‘Jack be nimble’ again, this time in §: (lotice hou this time there are only Y bars tnstead of B
1 syllable per bar | . 2 syllables per bar '3 syllables per bar I X—F K T — T —— 7  we—
: ) T ¥ |84 ) ' L4 l. I ' L] ’ i l"i )] =
% J J J JJ—J or ﬂJ Jack be nim - ble Jack be quick, Jack jump o-ver the caon - dle-stick,
% J J J J J J "Now you have a go. Write 'Jack be nimble’ in the time signatures of % . g and C. Write
* the words neatly underneath the notes. If your rhythm goes onto a second line, don't
Y Y g
3 J J 'b ' ’ ' write the time signature again - it should only appear oncel (J'M ke tn the folk aongs)
8 N
o] s 1 : + 1 1 3 J ] } 4
—= SEE == e
So if we were to write a rhythm in 3 to the verse above, it would look like this: Tk R pim-b® Jak R quick,  Jack jump o-ver e can-dle stck
- Py P > Y i I f { ' | Iy ry i
=3 T T I T T T 1 1 Hi]j 1 } :L'P ’Yl- ’ {. Jll' 71_ l{ !' n!' :'
S 2t et s Jack be nim-ble Jack-be quick, Jack jump o-verthe can-dle  ctick
Jack be nim - ble Jack be quick, 'Jack jump o-verthe can - dle-stick — i - i . - S — .
F ) 1 i i { i 1 c,l .: 1 "l ': ’} L "17 a'l
4o can-die grek

-

Jack be pim-be Jock bR quick, Tack jump o-ve

Notice how the syllables are spaced exactly in line with the notes, and words with more
than one syllable are *hyphenated" (ibich means there 1 2 w\en (dash) separating the s;llatle;).

The table above deals with 2, 3, and 3 as there is one strong beat per bar in these

54fime signatures. Now let's explore other time signatures... Go {o uuu.HiiztooLs.con.au Eor fR[£ manvscriyi ?aper.l
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The Anacrusis in Poetry

Sometimes the first word or syllable of a line is not accented. All you have to do is
remember that the upright lines show us the strong or medium accents in the bar.,
The |wind was ‘sfrong, the lrain was lharsh,

The lsform was thelwors? of the }year S0 kar‘.

In the first line, "The"” will be an anacrusis.

In the second line, “The" is not accented and actually belongs in the bar before. It will
go in the same bar as “harsh”.

It's best to use a crotchet anacrusis in 2, 3, 4 and €, and a quaver anacrusis in 3 and
g. But here's the most important thing to remember...

YOU MUST ADJUST YOUR FINAL BARI

See if you can finish these rhythms to the verse above. (Refec to the rkjﬂ\n’lc patlerns on pages )
and M) Remember to deduct the value of the anacrusis from the last barl

+ 3 3
1 1 1

| —v——w——»

rain Was harsh, The

1 L

stoom - was the worst of the

N 4 r

N |
1Y { 13 1 11
|

| JREE
-
it
s8h

17 4
» ¥ [ 2

- i r

[ 4
The wind was strony, The roin  Was  heesh, The

N

==
44

—
1 1 1 1 l I Y

| SR
| SN
==

—w %43 2

clorm wes  dhe worst of  de Yyar  So far

@RENEMB[RT!W tnnestgnaiwe Aépljtap"yea'rs_ 6§c§5'§uen 3&‘3691" thythe goes on fo 2 second ne!

More About Rhythm Writing

Sometimes the second line of poetry is a little shorter, and you may end up with only 7
accents, like this:
I }Jsed to like IWinTer but inow Ilike Fpring

The lﬂowers are lev'ry}vhere.

In 2, 3 and 3, it is not enough to have only 7 bars - this is not regarded as a
‘balanced’ rhythm. You must add an 8th bar and tie the last note over, e.g.

| ¥ T - » | I . X ) c—- 1 ) N T » - x 1 | ¥ )
1Y 1 1 t 1 H 1 1 1 3 ) IR Y 1 i 1 13 1
12

SNa—
I used to like Win-ter but now I like Spring The flow=ers are ev' = ry~ where. _)
Look! The &th bar
2 has been acfjv;ied

Try writing this verse againin %:

N1l

- |  a— — } — I ) 1  —
S B R i Po—— — ——" et ——
T udb ke Win-dr buk now ! |ike sprfﬁ%-ﬂow-ers are

N L

===
_ rg where

Now add some excitement: change some of the J J patterns into J -b!

ToP Tlps fOr Rlﬂ)er R'\Jﬂ»ms

$;”'Mar'k the cccenfs flrst and 'rreat The uprnghf Ime.s cxs bar Imes

2 Nl

IRIT I

Q’ In 4 . 4 and 3 . gach accenf rcpresenfs one bar

Q In i and ‘8¢ each cccenf represen'rs HALF a bar _

Q‘ If you have only 7 bars remember to add an 8th bor and *he the lasf nofe over
" If There is cm anocrus:s mcke sure you OdJUST the lasf bar .

Q’ Tr-y usmg J -b msfead of J J somehmes Just for a blf of varlefyl
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Write a balanced rhythm in 3 to this couplet:

Tomorrow I'm boing to ‘vash fhe\car
'My\Dad will be }/ery‘Dlwsed!

Very Important Revision Test

-

1. Name these intervals by number and quality:

4

Az

2 : + A | 1 1 1 1 } 1 __‘o 9 [ @ ] 49 g ‘O © 9——0 Q 38
i — —t—g—3 oy —a—fie——i& (o—o—jilo—o—iile
To — mor-row Im go- Mg 4o  wath He  car Y v ) D)) ) )
“minor 3rd Ma;p(‘ 3rd  purfect 4l minor Gl prhdd e majer 3nd
t P | — t 1 M N L J
———a— = ———=. o
bod will be ve- 1y p\eash‘./
2 ey Emajol et /4
7 2
Write a balanced rhythm in 3 to this couplet: Triad: ___{V (D Mist be LIV or V)
Y 4 P S
Traffic lights traffic ligh'rs,red and lgreen,
Then there'sjamber fin b .
en theresfam erlm e'f ween 3. Mark the accents in this couplet, then write a balanced rhythm in 3: A
—f—r— i— } f } > 1 f She cut of f their tails with a carving knife
- J y y 2} —al & i r) - . . .
T mf —fiC h.am -M.\{ -{K ll"(jHS red ond gren, Then theres am -ber Have you ever seen such a sight in your life?
T Tt ]
in bet-ween - She  wubt off dir  hily whh @ car- vig  knife Hove you
Write a balanced rhythm in § to this couplet: 2 ) z X i z :
L. Vr Gean Subh o 5:3\«-} in o your I;(g_?
\They ulllsay it isleasy folswim
But}jno-one can !do it asifast as[JTim 4, Write the following triads with a key signature. A
b B i ﬁ 1 i 1 ! I — —1 — 11 # 4 )4 j‘ 8 or %
S —a— 3 ——— il 3 o ——— (ot 3
Tey ol sy IS ea-$§ o S Rud no-ont @n dotral v ©
& minor A major C minor
; '}L‘ '5 - tonic (I) dominant (V) subdominant (IV)
fast a5 Oim.
@ 5. Complete this bar with rests: = S <—— /4
LY (o to wnblitzbooks.com.av fOr more practise in r,\w\n uriﬁng! : =

58




6. Write these key signatures and the named scale degree.

~—

Ao

STA

XK A . &): 1 0
o ™ o n . 0 11
V4 T A fan 14 g VAR [ an WK /5 [  an YO
e - ~V dgl O e vy NV L NV
[Y) Y, Y,
A major G minor C minor B major B minor
subdominant leading note dominant supertonic submediant

7. At each place marked with an arrow, add one note to complete the bar.

l

L

/4

e

e

?¢

\-/

8. H,O is commonly known as wafe

9. Write the scale of E harmonic minor:

(not sirictlj part o)f the (rade 2 s‘juaha)

=

* use accidentals - not the key signature

*

use minims

* write two octaves going down

*
*

mark the tones

complete the scale with a double bar line

| et

maad

asid

60
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Ttalian Terms

-~

L.
r o

E There are quite a few new Italian terms to learn in Grade 2. You need to

" =y
>,

Accelerando (accel)
Meno mosso

Piu mossa

Lento

Vivace

Fortissimo (ff)
Pianissimo (PP )
Decrescendo (decresc.,)
Maestoso

Mezzo staccato

Molto
Poco
Senza
Sempre

Sostenuto

gradually becoming faster
slower (less speed)
quicker (more speed)
slowly

lively and spirited

very loud

very soft

gradually becoming softer

majestic

moderately short-

and detached
very

a little
without
always

sustained

know these in addition to the Grade 1 terms, which are not listed here, For a
full list of Grade 1 terms and translations, go to www.blitzbooks.com.au.

DID YOU KNOW The Y)lttzbook E Musncnansh? barmes
| '\as some 3rea{ Ifallan Tems games anJ ﬂas‘\carc’s.
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Know Your Signs

-

L.
y

You'll need to revise your Grade 1 signs, as well as learning these new ones!

!

. Sign

Name OE sign

Meaning og Sign

Pause or ‘fermata’
(aliays placed abore the note)

Hold for !ongeﬁ than
written value

T[T

Accent

Play strongly

]|

Tenuto

Hold for full.vqlue of note

° Mezzo Staccato -Moderately short and

r {on on note) detached
S - Mezzo Staccato Moderately short and
r r (on more than one note) detached

3 notes played in the time

Triplet
ripe of 2 notes of equal value
- —_ Reveat -Repeat the music between
£ i P the dots
A Strong accent Plav stronal
r (also called ‘Marcato’ ) 4 g
D) "-3\ ﬁ \ | A ,.\' N
et ===
: >
* Add signs to indicate the notes in bar 1 are to be played mezzo staccato
* Add a different accent sign to each of the crotchets in bar 3
* Place a pause sign above the last note of the melody
* Add a sign to show the melody is to be repeated

62

Quick Quiz

>
g

1. Add a mezzo staccato sign to this note: r

2. Write an Italian word that means the same as diminuendo: decresu.ndo

3. The definition of a triplet is _thret adtes plauui in the time of dwo
notd of egdal “value

W ﬁkou“‘

4, What does 'senza’ mean?

5. Write the following dynamic signs and their meanings in the boxes, in order from
softest o loudest: :

sofi verj lovJ pp mf noJeratelJ lovJ very sott mp [ff louJ noJe,a{e]J ;oft p f

f Ff‘ dEi

M&N«My loud loud very foud

1 . 3

Pe P mp
veey  Soft soft moduddj Goff

6. Write the Italian and English names of this sign: O\ Fermata and _IOQUSQ-

7. Write a different accent sign on each of these notes: r J
8. Who was the first man to walk on the moon? (this ,,,oLaH; von't be tested in the eca) Neil Ar mh‘wj

9. How many semiquavers are there in a semibreve? !Q

m*’d $'ov4(

vely v
10. '[ranslafe the Italian words in this sentence: The‘ Vivhce 5|rl tiptoed mo to lent and
T
}n tssxmg into the kitchen. She sempre liked to have poco chocolate senza anyone

knowing! always a little without

You ¢an go to uuu.“iiztooks.wm.av am) Jounload fRE( u0rks"eeis!
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Modulating Melodies

-

A modulation is a change of key. You will be given a short melody beginning in C, 6 or D
major, but finishing in a different key.

Your job is to figure out the ‘opening key' (the key it starts in) and the key it modulates
to (the key it finishes in). ‘
ﬁguﬁng (ot the Opening Hey:

This is easy, just look at the key signature! It will always be either €, G or D major. -

[ ) ' []
Mmf——ﬁ. ot
) I L 1 1 1 1 1 1] 1 bl |
A 1 1 1 1 T | G g e S S | T 1 T T—T e |
ry) — 1 i T 4

Opening key of this melody: A Mcy'or

ﬁgvring (ut, the Modulation:

There are two equally important clues here:
1. The last note

2. Accidentals

Now look for these things in the above melody. The last note is D. The accidental is
C sharp, which if ‘added’ to the key signature would make the key of D major. So both
of these clues point to the same answer...

Key of modulation of the above melody: D ManOr‘

Now try this melody.
£ » ©-
i l ) D M )’ 1 } { i!
.) 1 ] S “— 1 ! 1 1 15
Opening key: D M@'Or‘ Key of modulation: 4 /’[:ybr*

e _ e - e o - —

Here is a melody with a different kind of accidental:

! J— ] [me— P R
- [ I I —it 1 M—— | 1 Y H B
1 i ) - il o l 1 y 3 i3
. !
e } o ——o—¢—1}
+ + t

]

Opening key: D M'Q"gc

And now for our modulation clues...

=

:

H1e
A

l

The last note is 6. The accidental is € natural, which if ‘added’ to the key signature
would delete the € sharpl So once again these two clues both point to the same answer...

Key of modulation: __C_ﬂcy_QL_

Sometimes a melody can modulate to a minor key. This will always be the relative minor
(have 2 look back at page 3), which has the same key signature. This means that the accidental
will be the raised 7th of the minor key. For instance:

J N N " ] " ]

4 H 1 _#_‘ T | 1 | -

y 4 1 1 1 T —1 s

& on Y ol - y J ' P 1 1 0
- - t { T 1 ot oo
) - ] ! bl

Opening key: _Lé{aj_n; Last note: _A— Accidental: __GL_

We can't really 'add’ the accidental to the key signature, it wouldn't make sense to have
a G sharp all on its own. So this accidental is really the leading note of A minorl

Key of modulation: A Mihor

Now you can have a go at these melodies:

f _FP—!ZP e e
[ 1 1 L - - A
e
Y  S— ' : v
Opening key: C A{aiof Key of modulation: E é{%[tﬂ‘
)
A - & = T
2 t —f = 1
0] — —

Opening key: _Q__AQJ_QL Key of modulation: E _minor 65



Key Relationships

- >

When a melody modulates, it only ever goes to one of three different keys. These are
the ‘related’ keys. In the exam you will be asked to describe the relationship of the
new key to the original key. There are only three possible answers:

DOMINANT = the key based on scale degree no. 5
SUBDOMINANT =  the key based on scale degree no. 4
RELATIVE MINOR = the key based on scale degree no. 6 (there I no such ﬂ-‘mg
2y modslating to the “Sibmediant’, Tt s aliays called the Relative evinr™!)
Look at this melody:
Y —— —r .’ ot
e e e s e =]
D [ — ] — T

Opening key: __(3 /{%l.or‘ Key of modulation:___{( é{q"gr
Relationship of new key to old key:_&gbdam[ngnf__

Since the opening key is always C, G or D major, you can work out all the ‘relationships’

Opening Lej Dorinant Jubdopvinant Relative Minor
CmaJOr G Major F Major A minor
0 major D Myjor C Major E minor
DmaJor A Major G Myjor R miner

Now go back to the melodies on the last two pages, and describe the ‘relationship’ of

the new key to the old key in each! (What fvn)

T T TR TR
8. ﬂ'\'s a 'uajsmeansuxe melon '\asmoxlulatell {0 :'”\e'ist)worivinant: ’xejl

- —

‘Melodies and Things

-1, Study this melody and answer the questions below:

Vivace e 2 ~ 3 4 |
i = —im = =
= 1 1 ) 4 L e —
£f meno mosso

(a) What is the opening key? _Qé@_nr‘_

(b) What is the key of the modulation marked with a bracket? _l_mmar'__
(c) What is the relationship of this key to the original key? _Relafive _mbor
(d) Add a sign to show the melody should begin very loudly. -

() Explain the term 'meno mosso’ _Slower (less speed)

(f) Add a pause sign to the crotchet in bar 2,

(9) Explain the signs under the 1st and 4th quavers in bar 1 _fecents= play dg_’gg/z,

(h) Write an Italian word at the start to show the melody should be lively and spirited.

T

i

2. Study this melody and answer the questions below:

P »* -

A n

L S 1 ) S 1 1 ) l 11

1 1 1 - ) 1 g 1 —— 1 ) )i 13
7] [pamned —  —— v T =
accelerando o tem po

(a) What is the opening key? —G—M”JL
(b) To what key has the melody modulated at the end? _Lﬂgpr
(c) What is the relationship of this key to the original key? Subdomingnt

(d) Explain the sign over the last note. (%usg_ - hold [oggg: fhan ixitlen Vg/ug.

(e) Add an Italian term to show a return to original speed in the last bar.

(f) Explain in full the time signature. _S_!m,ds_.fnﬂm_.?:_ﬂz&h.cthmm:

(g) Add a sign to show the quavers in bar 3 should be moderately short and detached.

(h) What does ‘accelerando’ mean? 6mdua[[g bmmins foster




Absolute Final Revision Test 5. Write a suitable rhythmic patternin % to the following couplet: A

-€ >

The sun is shining brightly now .

1. Give the full Italian term and English meaning for the following: A And the beach is aetting hot
nd the beach is getting ho

, .
D) rall rallenfande _9_radua.ﬂ¢_bmmm9_§lma
i "
-~ F A y i | B l' J r i J J | y A J'
y 4 £ y 4 s 4 V - W o y 4 y

" g , f+ d ‘ITF l" n .I y 4 y 4 o
i) r mezzo staccalp mgdgcgﬂ'g short and defached Th Sun is shi-ning bright-ly now and the beach is get-ting
i) pp- _pfam'_aimo . —very soff

V) decresc.  decescndo ., _omdually becoming soffer hot

r A
! § 1 A J 4 F A

i r
A /4 F i J 4
I

N

L

v mf mezzo forte  pedemtely [oud.
6. Write the scale degrees under the last five notes of this melody. Ao
Then transpose it down a tone to D major. :
2. Write these intervals above the given tonic notes: Az
— 1
= : S —
- ) fto O — Do O "% — el
| fan £ 1EN— (2 l"f!\ (@ ) l’ﬂ‘\ [ an} "ﬂ‘\ v T )
N4 ANAY [ % ] AR AN V.4 ANNY] AN 4
g o D) A X X -
perfect 5th  major 3rd  major 6th  perfect 8Bve major 3rd  minor 6th FEg T —» T P Cm—— " — E = rem
{ LAY I | r 4 ! r V] [ 4 'J | | :l Y 4 |
L L i 3 l'/ L" 1 & ‘! b 1 ]
3. At each place marked with an arrow, add a rest to complete A
the timing of the bar. 7. Add mezzo staccato signs to all of the quavers in your transposed melody! A
l 1 l 1 l 8. Complete this table: ' A
e e 7
== ! )
4 4 S.' .
ign Name Meanlng
Fause [fermata | H longer than
. old Gor 1
4. Write the scale of C minor:  * write the key signature A A l wriffen valye |
* use semibreves If ' Fortissimo Very  foud
* write two octaves going up A
* mark the tones |' Sronq accent (Hona Dlay wuith force

—r -

)4 o —O— L
b+ P —— £ | —— /
e S Total: 50

0




* b - e

‘ Mad Muh-ip|e Choice 6. This signn ————— fills a bar with silence in...
< > A. § only |
1. When figuring out the key of a modulation, you should look at: B, % only
A. the last note @ all time signatures
B. the accidentals
@ Aand B 7. The submediant note or chord is:
A. three above the tonic
2. To raise the 7th in C minor and F minor we must use a: three below the tonic
A. sharp ‘C. four above the tonic
natural
C. flat . .
8. In compound time, quavers are grouped in
3
3. Triplets m are found in A, twos
e threes
Simple time (Earth) C. fours

B. Compound time (Mars)

C. Dinner time
9. The dominant triad (V) contains:

@ the leading note

B. the subdominant
A. set up your drum kit C. milk

mark the accents first

C. start writing down crotchets and quavers in any order

4, When making up a rhythm to words, it's important to:

10. Intervals of a 7th are always:

A. major or minor

major

C. perfect

5. Circle the correct sign for ‘'mezzo staccato’ on one note:

A.

11, When writing two octave scales, we must begin

A. above the staff
B. below the staff
@ either of these depending on which way the scale is going

©

w
T8 T wl _|)

70

71




12. Two octave scales should have

15 notes

B. 57 notes
C. 16 notes

13.  Accent signs should be written like a small...

decrescendo sign J B. crescendo sign J C. triangle J
- >

b=

14, Pause signs should go:

A. above or below the note

always above the note

C. always below the note

15. Melodies usually modulate to:

A. the dominant key
B. the subdominant key
C. the relative major/minor key

' any of the above

16. The leading note must be raised in-

1
‘ A. minor scales
|

Aand C

C. dominant triads in minor keys

17. Never group two beats together if:

A. they are medium and weak
the first beat is weak
C. they don't like each other



Test Paper... sort of

- >

All theory books end with a test paper, but this one is DIFFERENT. It already has the
answers in it (mostlg urong ansuers|) and your job is to be the teacher - you have to mark it.

When you've found all the mistakes, go to www.blitzbooks.com.au and download the
EXACT SAME PAPER - this time with no answers already in it. See if you can get 100%!

A. Write the scale of F harmonic minor. J/
6

+ Write the key signature. X

* Use minims. X

 Write two octaves ascending. /

e Seake tong s maked v

« Circle the mediant in each octave.

——————

« Complete the scale with a double bar line. /

« Mark the tones with a slur. —

o
L =
) -y 7 o
. AN ™ L N7 N o [9)
- v A 121 N
(O
v
B. Write the major scale starting on the given note. ' 5 6
. Use accidentals. ¥’
« Use crotchets. X
» Write one octave descending then one octave ascending.>(
- Mark the semitones with a slur.v/
+ Complete the scale with a double bar line. v
sv/iMS X
] 0l A fi-é’ ,’A‘
3 dd gy LA
- YRR S S 52 N4
Y % ‘ﬁd P 4

i
J R0

73




C. For each of the following, write the key signature and the named scale degree.

é'/
6

e

A
A TRLE™)
L]_; s

B I vwe Gamm— ~a S
¢ @) y.4 B an W)
TV 23 ) ANS4
Y, )(‘J [y
E major\/ B minor X | 4 ,
submediant X leading note /z_ supertonicv/
INTERVALS | Total Marks [
A. Name these intervals by number gnd quality. %
E?Q i B
FanY (@] y4 ]
AN ~ DYy
LY o ©
............ AL B0
& =
. [ @ ]
2F &
> A4
© =
O
........... oA . % - N
B. Write these intervals above the given tonic notes. %
X
~ _
—1s )
A "~y -~ 7~
U
major 6th minor 3rd
a(u'w”‘p‘/s
59 » rutded Vo
/ \ .
e =) s
N4 AL ) o
(Y
perfect 4th perfect 8ve

74




Total Marks 12

A. For each of the following, write:

» the key signature.
+ the named triad, in root position.

A

X
ol -!“ 4 'H:
T e ptt—p
& lan YW 0 7) @] ¢ L

AN [@) AN
[y [y

B major X F minor A major /

tonic (1) dominant (V) ¥ subdominant (IV) %

Jhest arc M donic chad
B. Name the key for each of the following, then name the triad as the tonic (1), H/
subdominant (IV) or dominant (V) of that key. /6

l
# P O)E T
v 12 A -

JX]¥]

75
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A. Complete each bar with a rest or rests in the correct order.

TIME and RHYTHM

Total Marks 19

17
X

=

A

~¢

v

|O

4
“f! >
Chorf
3

!; gt Sy
7 1 R
A L
S A
B. Add a time signature and the missing bar lines to this four bar melody. g/
5
/ / Vo \ P
gy e Ny 5 YE D
@
S e e
C. Place & tick In the appropriate columns to correctly describe each time %
signature:
vl v
Simple Compound Duple Triple Quadruple
2
SR | X
/ \
\V A
: X X
8
Y v/
3 X
Pl X




Transpose this melody UP a tone into the key of B major. Write the new key signature.

o '{
% ) i — = h
e
L=
i Y & Jeo o
(> ) L A S R -
v -
X
Lo Sy oy xy
i ™N ; ») PR - S
z 'l \ ¥ . .
iR
M\SS\fj
/ /. v A X
+ s s/ X | /
Ay R ! - m 1 3 v
[ v WA ! i 3 Y ¢ 1 bil
\i)y v i i {
(g)tws)




A. Place an upright line in front of each accented word or syllable in this couplet. %/
4

{See?Her‘Majesty{wave;%wer’hand

3Thetcrowd§goes [crazy a*:rossﬁhe {land.

B. Write a rhythmic pattern to suit the words above. Use the time signature of g’ .

+ Write the words clearly under the notes

X
. for words of more than one syllable.
1 4 N t 4 —— 3 ) 1
- 1 1 1 i i 1 I‘ 1 | I
'Lf—ﬂ ¥ v 3 v ) (®) ) ® — —
S her MO\J'QS{'\j Wave her hand @ Crowd Soe.s Cra L ‘j

Acuted

[ ———
1 1

 — D

a¢ ross the [and
N

a
WO

Page 6 / Musicianship Grade 2



GENERAL KNOWLEDGE Total Marks 14

A. Give the English meaning of the following terms. | /7
4

B. Study this melody and answer the questions that follow. A

Maestoso 2
accel.

%::.) - P =
3 i’z_ 'E&Q-% —‘r—r— l

P\O\\A VQ.(‘\j \D\M\\\jt rit.

.............................

i) In what manner should this melody be played? Maestoso MU\N’\O .
i) Name the opening key of the melody. ... &..oin. v ...

i) Name the key at the end of the melody. ... D. & X WD SO

iv)  What is the relationship of the new key to the old key? ........ Mq—d\"m\' ..... i
V) Add an [talian term above bar 3 to show the music should get faster. \/

vi)  Add signs to show the quavers in bar 4 should be played mezzo staccato. X 7T ndt
vii)  Add a sign to the last note to show it should be accented. v’

vii) What is the meaning of the sign under bar 47 ..., a_bit slowec Y

ix)  Find an appropriate place to add a tie. \/ ( p’wb Y NG )

X) Add a sign to indicate the whole melody should be played very loudly. < _(: ,g )

v ,;._,,ﬁ»"'“"

I id Jov 3vaa'rl{m3 this Papgr? Did Joufmé lot«s of mistakes?
]‘/TNW 30 to uau;ui’czgooks.com.&ii'aﬁé} Jounloaé d\& vnem?letﬂ ‘vervs'wn

= BE {;'\45 ?aégr. See 'EJOU gaavg‘eﬁ IOOZ‘  , 1 ~ .

100 | | &
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